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Read the following text, and answer the questions hased on your reading of the text in English.
Underlined words are explained in the notes.

Source: cited and revised from "' The benefits and risks of rewilding.” International Union for Conservation of Nature (FUCN), 2021, httgs:/ fvww.iucn.org/ reso_urces/issues—

brief/benefits-and-risks-rewilding.

Notes reclaim: D EF: alienate: A5\ E 83 mitigate: 5 &17%5; crosion: . #&; socio-cconomic: HEIEH: livestock: &, steppe: ¥E
RLEETOYRDENERT,; beech: 7F; rancher:’ 3B, Heck cattle: FOFE; Konik horse: EOFRE: overgrazing: BMAL herbivore: A,
reinstate: BT 3; extivpate: B E 3, stakeholder: FWHHE
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Questidn 1{15 )
{a) What are the aims of rewilding? (5 &)

(b) What are the negative outcomes due to misuse of the rewilding concept? (5 &)
(¢} How was the OVP project plan revised, and how does this help? (5 5)

Question 2 (15 5) ' : . ‘
You are plaming to conduct rewilding, answer the following: '
(a) First, choo:sel am area in a big city in Japan that you want to rewild and explain the reasons. (8 &)
(1) Next, who are the human stakeholders that need to be cm}Sulted and why? (7 &)
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